A= sHJ|=3 2N sHII==3
Hu: SOAMASL K|
Eel: sl AFEXE (CH M)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
s0|=3 60,257,228 60,218,992 38,236
= 12,980,126
s 9,416,500
| 1,088,100
= 36,772,502
s2)|1=3 51,117,130 52,080,597 AN963,467
= 12,960, 126
s 8,675,000
J| 1,088,100
& 28,393,904
sHFYAEA NH 1,258,021 1,223,737 34,284
=)= SFXA 151,400 131,648 19,752
SEH HIXA L&t 151,400 131,648 19,752
201 Ler2Ad| 52,800 34,848 17,952
01 At22telt| 52,800 34,848 17,952
OXNUBE =F U N - PARRT Pt
9 52,800
203 R F&| 20,000 20,000
03 A FRI AR F=XIY| 20,000 20,000
O=sEXSAIY AIHFA 15,000
OATIMNL ALY AIEFZ 2,500
O=sEJI=XAAMG AIHFX 2,500
204 MR =HAY| 78,600 76,800 1,800
03 EE2EH] 78,600 76,800 1,800
oueIg sl 50,0003 *131H* 123 78,600
FArE G 2t 1,106,621 1,092,089 14,532
HADISEZ 1,106,621 1,092,089 14,532
101 21| 113,291 80,589 32,702
MU IRIMZ2ENsSES 113,291 80,589 32,702
OFAI EH0|3ta olY| 113,291
201 L2 | 977,500 927,500 50,000
01 Ar2eltl 167,500 117,500 50,000
OFA 2822 & 287Y S 167,500
02 33244l 810,000 810,000 0
OFAI Y 2XFAL 3322 S 810,000
202 04d| 130 130
01 =WOdbI 130 130
O3R2% ZaHsEAL E0 XA 130
401 AIEHIZL 200 15,000 20,000 5,000
01 Al&Hl 15,000 20,000 A5,000
OFA HHFH A 15,000
405 XHeHE S| 700 64,000 263,300
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A2 se)|a SN slEd
M olnge 23
ool ANy 243t X3 EERCE))
4. 2A - BH . SA(SH) - ARAY - BES 0l &t i HIDEZ
[ 400,000
= 400,000
401 AIEHIZL SR OHY] 300,000 1,227,000 A927,000
[ 150,000
= 150,000
01 Al&H] 300,000 1,227,000 /927,000
OUMF AR Szt 300,000
= 150,000
& 150,000
405 KHoHESH| 500,000 0 500,000
[ 250,000
= 250,000
01 AL ESFH S 500,000 0 500,000
OELISA S 155 500,000
[ 250,000
= 250,000
=g 3 - 32 29 X 381,010 369,340 21,670
= 256,925
[ 37,500
= 86,585
SHISEL0 2e A4 13,300 13,300 0
201 gH=3H| 11,800 11,800
01 At2t2IH] 10,000 10,000
OZgdE Ro= A & ARES 7Y 10,000
02 S3=4H| 1,800 1,800 0
O=gEIEE RER=s S 1,800
202 04| 1,500 1,500
01 2L AL 1,500 1,500
OgFEl € st HXEH 1,500
HAS0 JIHNE - 2A ALE XA (21D)(HE) 26,400 24,000 2,400
= 13,200
= 13,200
201 er23| 24,000 21,000 3,000
= 12,000
S 12,000
01 At2tcltl 24,000 21,000 3,000
OFH=sYC AL W= 12,000
= 6,000
< 6,000
OXX N&E € MF2EZ S 12,000
= 6,000
= 6,000
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A sgl=d 2M  s80lsE
Iz olmEe 23
el =g 2 - 32 29 N (S M)
A3 - 24 - M - GRA(3H) - NRAE - BES O &2k %g% HInE2
OS2 ASTAHS2H) 1,000
= 1,000
SA2 ASEAL 24(2D) 114,480 113,520 960
2 114,480
308 XIXISHHISOIA 114,480 113,520 960
=2 114,480
01 AXSHHB&EEZ 114,480 113,520 960
OsAE ASXAL 24 114,480
= 114,480
NSESASI 2N (2L 28 243 (22) 75,000 60,000 15,000
[ 37,500
== 37,500
101 1244 54,540 45,200 9,340
z 27,270
=S 27,270
oM JIRHR2EXSE S 54,540 45,200 9,340
0T (2) 5,50
= 27,270
== 27,270
201 Yer2 Ay 16,960 12,800 4,160
z 8,480
= 8,480
01 AR 22l 16,960 12,800 4,160
OFEH ZHME MEHAE, I25, &3l
S=H S 13,000
[ 6,500
= 6,500
OFRH Xt L AIRES S 3,960
= 1,980
< 1,980
202 oitl 1,500 2,000 AB00
z 750
= 750
01 2O 1,500 2,000 AB00
OUPHREZ, ALEO) 1,500
[ 750
= 750
207 AN 2,000 0 2,000
= 1,000
< 1,000
03 A& el 2,000 0 2,000
OANZME 2,000
z 1,000
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D sg8lI=d

CRA B BR(E) - NIRAE - B i HIDS2
| = 1,000
NESstsls 1,500 1,500 0
= 165
= 1,335
202 04| 1,500 1,500 0
= 165
= 1,335
01 2LHOIHI 1,500 1,500 0
ONSSet= 1,500
= 165
S 1,335
A0tESY DI 821,027 695,224 125,803
= 360,800
[ 460,227
A0IEE ICT &= 54,100 85,000 /30,900
201 Ler=a| 34,600 34,000 600
01 AtR2teld| 3,600 3,600 0
OADIEE SEAAE 3,600
2 S22l 31,000 30,400 600
OANIEE SEAIAE 9,000
OANIEE SEAIAE 22,000
202 O 1,500 1,000 500
01 =LA 1,500 1,000 500
OALOIEE ICT 85 1,500
207 A1IHE 18,000 35,000 A17,000
03 Alg e =2H| 18,000 15,000 3,000
OADIEE S 18,000
=g 2O0IE =8 ¥ ol Zet #=(21)( ) 624,000 547,080 76,920
= 312,000
= 312,000
101 el24d] 514,380 450,426 63,954
= 257,190
& 257,190
04 I 224 514,380 450,426 63,954
OANIESY 514,380
= 257,190
S 257,190
201 &Et=2E| 24,900 23,084 1,816
= 12,450
S 12,450
01 At2tcH] 24,900 23,084 1,816
Agdet W= 8,400
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a3 s9JIs¥ M sgII==
M olnge 23
el 23 ANESY Jls WY (CH M)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
= 4,200
& 4,200
OMSIID| Xt L MRES P2 16,500
= 8,250
= 8,250
202 04| 3,600 0 3,600
= 1,800
& 1,800
01 =LH4bI 3,600 0 3,600
O=Jt A Y diA2tel s XIS 3,600
= 1,800
= 1,800
207 AN 38,000 28,000 10,000
= 19,000
< 19,000
03 Al& 2| 38,000 28,000 10,000
OHOoIH =&& dM, 2H S 30,000
= 15,000
== 15,000
OMEXME ZH= S AEE 8,000
= 4,000
= 4,000
301 LN Z 43,120 45,570 A2,450
= 21,560
< 21,560
14 JIEt2 &= 43,120 45,570 A2,450
OUOIOIE 0HYI 43,120
= 21,560
= 21,560
ADIEE AAY SEXAMH XJA(=21) 97,600 63,144 34,456
= 48,800
& 48,800
201 B2 3| 57,000 32,000 25,000
= 28,500
< 28,500
01 AtR2eltl 57,000 32,000 25,000
CENEES-E 5,000
= 2,500
< 2,500
OICTHEHLE EA 44,000
= 22,000
& 22,000
OFU=E ZA+E 4,000
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A= sHJ|=3 2N sHII==3
M olnge 23
el 2R ANESY = WY (CH M)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
= 2,000
& 2,000
OYEXIAME 23| 4,000
= 2,000
= 2,000
202 04| 3,600 3,144 456
= 1,800
& 1,800
01 =LH4b] 3,600 3,144 456
OsEXEEH 249 600
= 300
& 300
O3%2 2N 3,000
= 1,500
& 1,500
207 AN 37,000 28,000 9,000
= 18,500
& 18,500
03 Al&l 2| 37,000 28,000 9,000
OAt=2telt| 37,000
= 18,500
& 18,500
23 FEES ANEE @Y oY 45,327 0 45,327
101 eI244| 23,827 23,827
M IRINZ2ENSES 23,827 23,827
OHRAEX 16,326
OYEREZ, =4, ¢l s 7,501
201 LEr2AH| 4,500 4,500
01 AtR2telt| 4,500 4,500
OANRES, MLLEE 1,300
OAFRID| AXS(BEEH, SAD|, A 5) 2,700
ONZIt REs 500
202 044l 2,000 2,000
01 =WHO4HI 2,000 2,000
O=Jt Xl 248 2,000
207 AR 15,000 15,000
03 Al&l 2| 15,000 15,000
OZ=H WM S 11,000
OgH= S 2825 4,000
&2 A7 23 1,265,311 1,138,137 127,174
= 47,967
s 112,500
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AR =)z S S
R
Chel: AlR2 DED MADIE Y (ol 29l)
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
= 1,104,844
AEAE ISE dabls pe 673,634 500,383 173,251
= 47,967
[ 625,667
H SES4 & Mildl= e 2= 94,000 90,000 4,000
101 el21H] 77,000 73,000 4,000
04 JIZtNZ22XNSE 77,000 73,000 4,000
OXZeIF oA & H§EFE=s, =€ S 77,000
201 2gH=3H| 4,000 4,000
01 At22t2H] 4,000 4,000
OH SES=dAE 28 X S 4,000
202 04l 2,000 2,000
01 2LH0IH 2,000 2,000
OXNS Ag2EE 2| 2,000
207 ARl 11,000 11,000
03 A& 32| 11,000 11,000
Ol SESSEAE A & s 7Y S 11,000
H S20gs & A2 FE Il 90,000 86,229 3,77
101 eI24H] 77,000 73,000 4,000
M IRIMZZ2NHSE S 77,000 73,000 4,000
OXHOIF 012l & HEFEs, =4 S 77,000
201 Zet=d] 3,000 3,000
01 At2tcltl 3,000 3,000
OoH S 13=AE 2& Xtz S 3,000
202 048l 1,500 1,500
01 2L A b 1,500 1,500
OXNd AgZEE 2| 1,500
207 A0 8,500 8,729 N229
03 Alg & 72H] 8,500 8,729 A229
OH SENS3AIE A 2 s 7 S 8,500
=2 S4 H UES ESHH 7= 83,500 79,500 4,000
101 el2ib] 77,000 73,000 4,000
MU IIRIHZZ2NSES 77,000 73,000 4,000
OXFOIF 012l € H3FEs, =€ S 77,000
202 048l 1,500 1,500
01 2| 1,500 1,500
OXd ANgZEE 2| 1,500
207 AR 5,000 5,000
03 Alg &2t 5,000 5,000
OH 28 22 ZEesE F(Hlz 8) 5,000
2AHE MSS 4 X WHDI= HgEadL 89,000 85,000 4,000
101 el2ib] 77,000 73,000 4,000
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A= sHJ|=3 M sgII==
Mo N2 e 2As)
Tl AlZR2 DEX MAJIE Y (ol &)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
M IRIMNZ2ENSES 77,000 73,000 4,000
OEHQIR JI2HH 22X BE= 77,000
201 Ler23AH| 3,300 3,300
01 ArR2teltl 3,300 3,300
OEXES MSE SHAE Z& X 3,300
202 04| 1,700 1,700
01 =WHO4HI 1,700 1,700
OXIY ANEZE 2e| 1,700
207 AR 7,000 7,000
03 Al&l 2| 7,000 7,000
OEX=E MEE SLEAME HA=3 7,000
FENE AS FES RIS SA Mat 82,000 79,500 2,500
101 eI244| 77,000 73,000 4,000
M IIZtH22sSEs 77,000 73,000 4,000
OEHQIR JI2HH 22X BE= S 77,000
202 04| 1,000 1,000
01 =WO4HI 1,000 1,000
OXIY ANEZE 2| 1,000
207 AR 4,000 5,500 A1,500
03 Al&l 2| 4,000 5,500 21,500
OF2Z2 SAMAS 28 AIFAHH 4,000
LS OFEMA DY Y @ AES oA 37,167 35,811 1,356
101 eI244| 25,667 24,311 1,356
M IIZtH22 S8+ 25,667 24,311 1,356
OEHQR JIHHZ2Z2X B+ S 25,667
202 O4b| 1,500 1,500
01 =WH4HI 1,500 1,500
OEXE & MESHX =& 2l 1,500
207 AR 10,000 10,000
03 Al&l 2| 10,000 10,000
OgX=E L EsAR HIR, s% S 10,000
HAS L ATMAY] X (=1) 47,967 44,343 3,624
= 47,967
101 @I244| 40,758 39,164 1,594
= 40,758
M IRINZ2ENSES 40,758 39,164 1,594
(OETSgeils 40,758
= 40,758
207 AN 7,209 5,179 2,030
= 7,209
03 Al&l 2| 7,209 5,179 2,030
oHlz, s<%, sAHH 2 7,209
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=d)|=& 2N sHII==3
N2 o1 Ast
AEAE NFE M= e (CH M)
2. 24 - BB O(B) - NIRAIY - BAS Ofl ko i fimE==t
| = 7,209
SEXTIIBIELHAI(HE (St B2 SLEX Mat 150,000 0 150,000
)
405 RHoHFSHI 150,000 0 150,000
01 AL =B F =HI 150,000 0 150,000
SN SET 2], SET ZBHYI,
LHE EE, XAHX S 43 404 150,000
S22 IEE HEMA AR 591,677 637,754 AN6,077
= 112,500
& 479,177
Olah ZEEFA THHH Dl= Jneg 68,106 67,982 124
101 @I244] 51,756 49,572 2,184
M IRINZ2ENSES 51,756 49,572 2,184
(OETSguils 44,876
ogHERE==S 6,880
201 LBH2AH| 1,350 1,350
01 ArR22eltl 1,350 1,350
OHEZNZE, A2 829 S 1,350
202 04| 2,710 4,460 A1,750
01 =WO4bI 2,710 4,460 A1,750
O=U04dl 960
OolaAZTAIE AT S22 SOOI 1,750
207 AR 12,290 12,600 A310
03 Algl 2| 12,290 12,600 A310
O= M, &AM S 12,290
UAZAE OIEMA DS 41,400 42,900 A1,500
101 eI244| 26,200 25,000 1,200
M IIZtH22 S8 26,200 25,000 1,200
OXEHOIR 22,438
OHERE= S 3,762
201 LEH2AH| 1,800 4,800 A3,000
01 At 22|l 800 1,800 A1,000
OHE, NFES S 800
02 E324H| 1,000 3,000 A2,000
sIH SN2 S 1,000
202 04| 900 2,300 A1,400
01 =WOHI 900 2,300 A1,400
O=U0idl 900
207 A0 12,500 10,800 1,700
03 Al& 2| 12,500 10,800 1,700
o2=J|7, Hlz, &, s s #Y 12,500
olat - x MHER X4 & SESEE 29 70,491 74,150 A3,659
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Se/I=C =&
N2 o Ast
SEEXNE NSE HHMA (CH M)
2.9A - H . O (B) - AIRAY - 01l abot i HIm =2
101 e124b| 47,655 25,000 22,655
M IRINZ2ENSES 47,655 25,000 22,655
ORFOL 42,077
OHYERYEZ S 5,578
201 L2 3Fh| 1,000 1,000
02 3324l 1,000 1,000
oHe=F F 1,000
202 0441 550 550
01 =UO4HI 550 550
O=U0ddl 550
207 AN | 21,286 48,600 N27,314
03 A& 2| 21,286 48,600 AN27,314
OQel&t SHIHEAIA, =KX 11,286
O%x A&, KR 10,000
olat HollEs ItAl MIEE =4 39,192 38,100 1,092
101 2124 b| 26,392 25,300 1,092
M I12HHZ22sSE+ 26,392 25,300 1,092
OLEHoIR 22,438
oYERYEZ S 3,954
202 04H 2,000 2,000
01 =WHO4HI 2,000 2,000
O=U0idl 2,000
207 AR | 10,800 10,800
03 A& 7| 10,800 10,800
OUHZEE B It 7Y S 9,000
ONZEY, ZHNE =% S 258 #2 1,800
NESESAFI| 2L (FEH) (=) 225,000 187,000 38,000
iy 112,500
& 112,500
101 2124 H| 80,000 75,000 5,000
s 40,000
== 40,000
M I 22 NSES 80,000 75,000 5,000
OLEHoIR 69,420
= 34,710
& 34,710
og3a=-gIs 10,580
= 5,290
< 5,290
201 L2 AY| 22,000 20,000 2,000
s 11,000
== 11,000
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A= sHJ|=3 2N sHII==3
B m2 o7 U3
el SEXZ2 DEXD OFYMAr 017 (ol &)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
01 AtR2eltl 22,000 20,000 2,000
OMREZ S 2,800
s 1,400
& 1,400
o224 & JHt =2 S 15,000
s 7,500
& 7,500
O8N Z& AXt 4,200
s 2,100
= 2,100
202 04| 8,000 2,000 6,000
= 4,000
< 4,000
01 =WHHHI 8,000 2,000 6,000
OAHFHRFA 8,000
s 4,000
== 4,000
207 AR 60,000 45,000 15,000
s 30,000
& 30,000
03 AlE 2| 60,000 45,000 15,000
O&H|, =<, 3IRAXM S 60,000
s 30,000
< 30,000
307 2I12to| A 55,000 45,000 10,000
s 27,500
< 27,500
02 QIFF &AL E X 55,000 45,000 10,000
OMbisIt &)= X & AS 55,000
s 27,500
& 27,500
JIEHE S MAS S8&E Y 67,333 64,622 2,711
101 @I24t| 51,333 48,622 2,71
M JI2tH22SEx 51,333 48,622 2,711
OEHQIR JI2HH 22X B S 51,333
201 L2 | 2,000 2,000
01 At22telt| 2,000 2,000
QJI=H3HE ASE=E e ANEEE &
Xt 2,000
202 Ot 2,000 2,000
01 =W0dbl 2,000 2,000
O8I Z&22| S 2,000
207 AN 12,000 12,000 0
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‘3:’ %E&é ASE HEYL AL (2 M)
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
03 Al 22| 12,000 12,000 0
S & dE=8 7Y 12,000
HA SES5d & dity 4o+ 80,155 0 80,155
101 el2b] 47,655 0 47,655
MU IIRHZZ2NSES 47,655 0 47,655
OXFT S0 & HIFES, 40 S 47,655
202 048l 2,500 0 2,500
01 =LHAbI 2,500 0 2,500
O=LHNOHI 2,500
207 A E 30,000 0 30,000
03 Alg 32| 30,000 0 30,000
OAl%, =A%, BIXIMZE S JIEFHH 30,000
e NS Y 2,618,287 4,024,020 1,405,733
Il 1,080,000
= 1,538,287
A 38 AES ¥ 3 g Jls HE 2,256,177 2,381,000 A124,823
7 1,080,000
= 1,176,177
A THERD = S+ 95,063 88,800 6,263
101 el24b] 51,333 49,000 2,333
M ORIMZZ2NSES 51,333 49,000 2,333
OXEFOIF 51,333
201 Ler23| 3,050 1,800 1,250
01 AtR2telH] 1,800 1,800 0
OMFES, HE S 1,800
02 S3=3H| 1,250 0 1,250
OANEZE e Ats= 1,250
202 04| 20,680 18,000 2,680
01 SLHOIH 20,680 18,000 2,680
O A-THHH A= 6,000
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odAgdst U=, d2XNcAHTe g5 & 65,800
= 32,900
S 32,900
04 = NI2t01H] 7,200 7,200 0
ONEEFE s=Y oA+ 7,200
= 3,600
& 3,600
sJIsdE NCSRE 2SR (I D) 147,494 113,550 33,944
= 98,329
= 49,165
308 XM SOIE 147,494 113,550 33,944
= 98,329
= 49,165
01 XN B SExS 147,494 113,550 33,944
ONTEE HesAsATIY 147,494
2 98,329
= 49,165
E=2s00 HP2YH S4(2D)(FE) 12,000 12,000 0
2 6,000
= 6,000
201 &gt=2E | 8,000 9,000 1,000
= 4,000
= 4,000
01 AFR2t2IH] 8,000 9,000 A1,000
OS=Esgol 722y 2 8,000
= 4,000
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A= s8I M se8)l=sd
Ha: QMRS J|&XR
ool s @2)IE uS CERE)
4. 2A - BH . SA(SH) - ARAY - BES 0l &t i HIDEZ
01 SLHAbI 6,000 11,000 25,000
O7lsgaeds 4R 1,000
= 300
S 700
O32& =U0dl 5,000
= 1,500
& 3,500
301 2N S 6,000 6,000 0
= 1,800
= 4,200
11 HALAEIXIZ S 6.000 6,000 0
O7s=s&dY d2Us AL 24 6,000
= 1,800
S 4,200
H=s&e 843 X (21) 27,000 39,000 212,000
= 27,000
308 AXIEHHMSO0IA 27,000 39,000 212,000
= 27,000
01 AXSHHBELES 27,000 39,000 212,000
OA=&Y 243t X& 27,000
= 27,000
dasgel(AsAHE) EslIx0IsuE X (2D) 122,250 100,000 22,250
= 81,500
= 40,750
308 AXIHMSOIA 122,250 100,000 22,250
= 81,500
== 40,750
01 XM B AEXRS 122,250 100,000 22,250
OtlAsgel JI=Es) z=u=s 122,250
= 81,500
< 40,750
ARSAO(HSHE) TSIt ERASDS X2 (2 279,000 204,000 75,000
)
= 186,000
[ 93,000
308 AXIHMSOIA 279,000 204,000 75,000
= 186,000
= 93,000
01 AXSHHBaEXS 279,000 204,000 75,000
Otl=gel SEASNS 279,000
= 186,000
= 93,000
S0 SHARNFR(21) 183,300 132,000 51,300
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= selsd A s2)|=d
M QMRS |2
el 59 d2JIs WS (91 =)
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
= 141,000
= 42,300
308 AHAIEHMISOIE 183,300 132,000 51,300
= 141,000
S 42,300
01 AXHHBSELS 183,300 132,000 51,300
OsgIIH E84? us 183,300
= 141,000
= 42,300
WFE sYI XN&(=12) 157,000 195,000 38,000
= 157,000
403 XXM SA=01A 157,000 195,000 38,000
= 157,000
01 MHXIHHAZE X 157,000 195,000 A38,000
OusE sEIIH N 157,000
= 157,000
s2IIH gdat 2gAH 69,600 69,500 100
201 &gr=2E | 14,500 14,500
01 AtR2t2lH| 7,000 7,000
oggdst s & Eotsl 7,000
02 S22l 7,500 7,500 0
ORoD| Ed8g, S4lHl, RF4l S 7,500
202 O 1,100 1,000 100
01 204 1,100 1,000 100
Os2IIH WSAY g2 1,100
308 AHRIEFMISOIE 54,000 54,000
01 HAHHBSExS 54,000 54,000
sEIH nssd 24 A 54,000
SUICHH 45t N2 856,348 902,944 A\46,596
= 275,200
= 581,148
sgol s Ws2Y N (=10)(HE) 50,000 48,400 1,600
= 25,000
= 25,000
201 Ler23| 14,000 14,400 2400
= 7,000
(= 7,000
01 AtR2telH] 11,000 9,400 1,600
O4Hal A FHus FA 11,000
= 5,500
= 5,500
03 A2 I 3,000 5,000 22,000
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A= sHJ|=3 2N sHII==3
Hu: A= |2 K|
CHl: SQoICH 23 X2 (ol &)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
O4Hs =4 X 3,000
= 1,500
& 1,500
202 04| 5,000 3,000 2,000
= 2,500
= 2,500
01 =WHO4HI 5,000 3,000 2,000
OuFHA HEFX 5,000
= 2,500
& 2,500
301 etENZ 5,000 5,000 0
= 2,500
& 2,500
11 HALAHIXIRZ 5,000 5,000 0
O4Hal W L AL HFAT 24 5,000
= 2,500
= 2,500
307 2I2to| A 26,000 26,000 0
= 13,000
& 13,000
02 QIZtBAAIHE X 26,000 26,000 0
OE4H=R WsKIE 26,000
= 13,000
& 13,000
=20 St neey NJ(=21) 22,800 14,400 8,400
= 15,200
= 7,600
308 AtXISHMS0IH 22,800 14,400 8,400
= 15,200
o= 7,600
01 IXSHHBAEES 22,800 14,400 8,400
O=sEXNEASdE = 22,800
= 15,200
& 7,600
4Ha| |4 194,144 252,328 Ab8,184
201 B2 AH| 21,000 18,000 3,000
01 AtR2teltl 16,000 18,000 A2,000
O4He| A s =& 16,000
03 A+ | 5,000 0 5,000
O4Hald =it EEHA 5,000
202 Oid| 2,000 2,000
01 =i b 2,000 2,000
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=9)|&d &
DAHOEES J|=X2
s 253 X3 (91 =)
22K - ZH . SR(EH) - HRA i HIDS2
Ou=sHAL =& 2,000
301 LetEE S 2,100 3,000 A900
11 AHBIXIE S 2,100 3,000 2900
OuUs & SAESL 2o 2,100
307 2I2t01 & 50,844 49,878 966
02 2B AAHE R 22,000 22,000 0
OZA4HOKE = 22,000
03 2t HE E 2| 28,844 27,878 966
OZE4H=R 2Y 28,844
308 XXM SOIA 10,200 19,650 A9,450
01 MAESHBLEEZ 10,200 19,650 A\9,450
O4Held sHEEX 10,200
403 X HMSH=0lH 108,000 158,000 50,000
01 AR A= 2L 108,000 158,000 A50,000
OFY4AH A J ==& 108,000
FE sl F¥H M1(=1) 202,500 270,000 A\67,500
= 135,000
= 67,500
308 NHAIEHMISOIE 202,500 270,000 A\67,500
= 135,000
= 67,500
01 XN B SELS 202,500 270,000 267,500
OFH=l A MM = 202,500
= 135,000
= 67,500
HdE=ot J1201d 2E3 AHg(21) 150,000 100,000 50,000
= 100,000
= 50,000
403 AXIEHHMSA=201H 150,000 100,000 50,000
= 100,000
= 50,000
01 AXISHHA=2EE 150,000 100,000 50,000
OdZ==It J1=01d 150,000
= 100,000
S 50,000
sEXNEXz |4 121,404 98,316 23,088
201 Ler=2a| 2,800 4,000 1,200
01 AtR2teld] 2,800 4,000 1,200
OsEXNZAL OPHHDInE =24 2,800
301 LEENS 2,800 4,000 1,200
11 #AIMHIXIE S 2,800 4,000 A1,200
OsEXEX OtHI0I 12 2,800
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a3 s9JIs¥ 2N sHII==3
T HHOIN @ B3 J|SX
Col: X2 0HN3L )22 (SHol: &)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
01 RIXIHHA2E X 4,380,000 4,418,500 38,500
O=d AD|= MY 4,380,000
= 4,380,000
JleEg S8l g9 Alg(=21) 500,000 250,000 250,000
= 500,000
403 XIS MS =01 500,000 250,000 250,000
= 500,000
01 XtXIEHHI A= 2 = 500,000 250,000 250,000
OJl=Eg =dd S82Y AlgHAIY 500,000
= 500,000
Z2gHl 22 D= 144,700 194,620 A49,920
201 L2 AY| 12,000 12,000 0
01 ArR2elt| 11,000 11,000 0
OrII|I=E2 AIFAIY =& 11,000
02 324l 1,000 1,000 0
OtDI=E2 AHAY =8 QESES 1,000
202 o8| 5,100 5,100
01 =LHA4b] 5,100 5,100
OrDI=23 AMMAIY JI=KI& 5,100
308 AXIEtMSO0IA 48,000 151,120 A103,120
01 AXESHNBAEEXS 48,000 151,120 A103,120
oHto|2xteE ELEZIE 2 NEAsY
Jl= MY 48,000
403 XX HMS K201 79,600 26,400 53,200
01 AIXIHNA2E X 79,600 26,400 53,200
OXNEE S=ZA FACR SHAIY 9,600
OXNEH T "LSEH S4HEHX =4
A& 36,000
OAIZTHHIXI E28 D2 UHSS=EX
2E JIsAY 10,000
OXMSH AES HeB(Ue2s) S5AY 24,000
X &gt &2 )8R (MEANY) 3,077,000 3,077,000 0
403 XX SHHMSK=01H 3,077,000 3,077,000
01 XISHHMAIZ2E X 3,077,000 3,077,000
OXG&E&As &5 JIHEH(XE) 3,077,000
AEXNST S JI=Es 614,000 730,600 A 116,600
= 75,000
= 539,000
MEERRE |4 I 539,000 96,600 442,400
201 Ler2AH| 52,000 2,000 50,000
01 At22teltl 52,000 2,000 50,000
oudEA=Z |4 JI=i& 2,000
OALIE=Y WSs2Y Y &2 24 50,000
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s2)I=¥ A =3
FZors & S8 JI=A3
ASHS BB IR CERE)
2 2A B BH(EH) - HRA ofl &t i HIDEZ
202 04l 3,000 4,600 A1,600
01 SLHOIHI 3,000 4,600 A1,600
ovlEsAS =4 SHJI=N2 3,000
403 X EHMSEXH=01H 484,000 90,000 394,000
01 AXISHHA2E & 484,000 90,000 394,000
OJUXE ADE M2z AY 50,000
OUIOIEHI e AIE€RUZ2LIEHE AIAE 2 240,000
OANELMZT 22 ZLIHE & HEAIAE
ASAY 24,000
Oolale s = ALER JIgh 24 120,000
OANIE® HE 2HS 24 AE 50,000
ADIE HIAEHIE D&E3H=1) 75,000 25,000 50,000
= 75,000
403 AXIEHMSA=01H 75,000 25,000 50,000
= 75,000
01 XIS A= 75,000 25,000 50,000
OXL0IE HAEME &3t 75,000
= 75,000
s &= =J| &85 5,173,970 3,820,700 1,353,270
= 4,364,300
Il 1,850
& 807,820
sYJI=¥ SEFEAY 2 N (2)(HE) 15,000 15,000 0
= 7,500
S 7,500
201 &gt2E | 10,000 10,000 0
= 5,000
= 5,000
01 AtR2t2ld| 10,000 10,000 0
OEYzdd & usdsadlls XA 10,000
= 5,000
= 5,000
202 Ol 5,000 5,000 0
= 2,500
& 2,500
01 =LA 5,000 5,000 0
OEYZE & wstd=ssdlles X 5,000
= 2,500
= 2,500
s2J|=de g4 29 A/(=1) 276,500 285,500 /9,000
= 276,500
308 NHXIEHMISOIH 240,500 285,500 245,000
= 240,500
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3 EbEE ==l
D EEeHE 2 HES JEXE
L ¥ HEII X)| A8F (o=
2. 24 - BB O(B) - NIRAIY - BAS Ofl ko i fimE==t
= 5,500
201 Lt | 10,000 10,000 0
= 5,000
< 5,000
01 At22elt| 10,000 10,000 0
OdYoll= HELM AtE XI& 10,000
= 5,000
& 5,000
202 04d| 1,000 1,000 0
= 500
= 500
01 =WO4bI 1,000 1,000 0
Ogdis HELH AtE X 1,000
= 500
= 500
sEHSYE da 29 XJA(21) 121,000 121,000 0
= 121,000
308 AXIHMSOIE 121,000 121,000 0
= 121,000
01 AXESHNBAEES 121,000 121,000 0
O=H29ils 2t 24 XN 121,000
= 121,000
sa2Yols 2EXZ 29 d(21) 32,850 32,850 0
= 32,850
308 AXIHMSOI & 32,850 32,850 0
= 32,850
01 AXESHNBLEES 32,850 32,850 0
O=xsdils 222 24 N 32,850
= 32,850
2ot/ HoHSEHH2E(=1) 775,500 916,500 A141,000
= 775,500
308 AXIHMSOI & 775,500 916,500 A141,000
= 775,500
01 AXIEHBLEES 775,500 916,500 A141,000
O=oteldols LA 2 775,500
= 775,500
DoAY HSAIAY 2H(=1) 80,000 60,000 20,000
= 80,000
308 AXIHMSOI& 80,000 60,000 20,000
= 80,000
01 XN BLEEXS 80,000 60,000 20,000
OLt==3tad HSAAH 2= 80,000
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A= sHJ|=3 2N sHII==3
o =ENIIKIEE
Hel: sEEHSA EEREED
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
SEEESEA 1,246,550 1,033,800 212,750
= 1,050,000
& 196,550
=2 AD|= A (=1) 875,000 580,000 295,000
= 875,000
403 XXM S KH=201H 875,000 580,000 295,000
= 875,000
01 AXIHANA2E X 875,000 580,000 295,000
Osg A= AlY 875,000
= 875,000
AEY QEY orMEE| AFAIY(21) 175,000 250,000 A75,000
= 175,000
403 KX M S K=201& 175,000 250,000 A75,000
= 175,000
01 XISHHAIZ2E X 175,000 250,000 AT75,000
OX=E OIEE otdate| AEAIY 175,000
= 175,000
SsEME 243t X2 41,550 11,800 29,750
201 L2 | 5,300 6,300 21,000
01 At 2teltl 5,300 6,300 A1,000
O=EXE AL one-stop AT XA 5,300
202 o4d| 4,500 5,500 A1,000
01 =i L] 4,500 5,500 A1,000
OS&EAHLEY J=XaH 29 4,500
403 XX HMSKZ01AM 31,750 31,750
01 MXISHHMAI2E X 31,750 31,750
O=sZY &ZIid HOolEYl X 11,750
OJNES JIEt TA=E 4 Al 20,000
SENEA SAME AXMAIH(FHEAIY) 125,000 112,500 12,500
403 XX HMS =01 125,000 112,500 12,500
01 XXM 22 X 125,000 112,500 12,500
O=sENZA SXME AFAIH(XE) 125,000
SHES OHMAID Ol MESH(MBAIY) 30,000 27,000 3,000
308 AtXIEMSO0IN 30,000 27,000 3,000
01 AXEHBLEES 30,000 27,000 3,000
O=YES OHMAIL 02 MESH (XS 30,000
SENEE 2S5 2,129,610 2,357,910 A228,300
= 24,000
s 1,060,000
= 1,045,610
sHE ZEIS IS (=1) 200,000 300,000 100,000
s 200,000
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A= sg8)|=d 2N sHII==3
o =ENIIKIEE
tel: SENJEE LSS (CH M)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
403 XXM S K201 200,000 300,000 A100,000
s 200,000
01 XEXIEH =22 X 200,000 300,000 A100,000
O=dt2 SIS dE EXI(1EXH 200,000
s 200,000
SN2 JIBI|E EE3 NJA(Z0)(HE) 40,000 40,000 0
s 20,000
== 20,000
201 LEr2AH| 40,000 40,000 0
s 20,000
& 20,000
01 AtR2elt| 40,000 40,000 0
O=4tE I8 EES K 40,000
s 20,000
< 20,000
s42 JE8DIE EES XR(21) 60,000 160,000 100,000
s 60,000
308 AXISHMSOIA 60,000 160,000 100,000
s 60,000
01 HXSHBHEES 60,000 160,000 A100,000
O=dtE JI8)Is EES X 60,000
s 60,000
sMESIls E222 CXE D8 xd(=21) 400,000 200,000 200,000
s 400,000
403 XX HMSAH=01 A 400,000 200,000 200,000
s 400,000
01 XISHHMA=2E X 400,000 200,000 200,000
O=sdtEits &2l CXNE JI8xs 400,000
sy 400,000
S22 ASNY DB E4(=2) 125,000 125,000 0
s 125,000
403 XX SHHMSK201A 125,000 125,000 0
s 125,000
01 XISHHMAZ2E X 125,000 125,000 0
Os4tE AEME I8t xS 125,000
s 125,000
s8I A2 FHI= XA (=12) 100,000 150,000 A50,000
s 100,000
403 XX SHMSKZ01AM 100,000 150,000 50,000
s 100,000
01 XISHHMA=2E X 100,000 150,000 50,000
O=sg2l AL 2 J|=X& 100,000
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A= sg8)|=d 2N sHII==3
o =ENIIKIEE
tel: SENJEE LSS (CH M)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
| 5 100,000
SEXNZEESE MEII= AE(=31) 105,000 80,000 25,000
s 105,000
403 XX HMS K201 A 105,000 80,000 25,000
s 105,000
01 AIXHHA=2E X 105,000 80,000 25,000
ORLUXAXA 2HZAES 50,000
s 50,000
O=sENE NEgas B = &= 15,000
s 15,000
OXNSAsELAT &8 AMBNISEHH =4 15,000
s 15,000
sJ0HUXNNE =2s HEsd JIsXdE 25,000
s 25,000
SOHe JIS4E 0BIE JIsX(20)(2E) 100,000 100,000 0
s 50,000
= 50,000
201 Ler23Ad| 95,000 95,000 0
s 47,500
= 47,500
01 AtR2teltl 5,000 5,000 0
O=Itd JI2HE OHAE JI=X& 5,000
s 2,500
& 2,500
03 A2 G| 90,000 90,000 0
O=It" JIBHE IHAEAMSE E2EAL & 90,000
s 45,000
& 45,000
202 Odt| 5,000 5,000 0
s 2,500
= 2,500
01 =WO4H| 5,000 5,000 0
O=Itd JIE2HE OHHEAMSE EEDI=RIA 5,000
s 2,500
& 2,500
SAE JIEEY JI=sEs 98,000 130,000 A32,000
403 AHXIHMS =01 A 98,000 130,000 A32,000
01 XtXIEHXI A= 2 = 98,000 130,000 A32,000
OReE B8 'S xx" IISAMES 48,000
OsNETEIISHEH ANEEE WX 50,000
SOl JIBAISE A A AR (HEA) 135,000 135,000
403 XX SHHMSK=01M 135,000 135,000
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O O O
T i 09
alpalhl

[0 0

SA B SRI(8) - IRAE - i HIDS2
135,000 135,000 0
ST LTI (H
&) 135,000
SIEXH 450,000 450,000
403 KtXI A 450,000 450,000
01 KEXIEHA| 450,000 450,000
O=sgelx 450,000
sENgEs 146,940 154,440 AT,500
201 Et=3Ey 28,000 42,000 14,000
01 At 22| 28,000 42,000 14,000
OxRrsY 22,000
OxR (= 6,000
1,200 1,200
1,200 1,200
OXI=HME At & 1,200
1,740 1,740
1,740 1,740
oz 1,740
eted= 5,000 7,500 2,500
11 AHHIXIE 2 5,000 7,500 22,500
OuUsY MH2d 5,000
308 MR EMS0IH 9,000 9,000
01 XM B EELS 9,000 9,000
OxR=gsd JI=X& 9,000
XA SA201H 102,000 102,000
ARSI EE X 102,000 102,000
28 I=sY 54 102,000
stst XI&A 100,000 184,000 84,000
AXEHHS0IA 100,000 184,000 /84,000
1 3J12Sotietd e 100,000 184,000 284,000
ONES3 sit= 100,000
2 2ESA =4 45,670 49,470 A3,800
201 LEr2E | 39,000 39,270 A270
01 At 2tclbl 39,000 39,000 0
O&Zos &y 39,000
202 04| 5,270 5,200 70
01 =LHxd 5,270 5,200 70
O&E 2,200
OLAU 3,000
O 70
206 M= Hl 1,400 2,000 A600
01 =4 1,400 2,000 A600




A sl =3 2N s d
M SENJAXES
el sENAEE 253 ESEE))
4. 2A - BH . SA(SH) - ARAY - BES 0l &t i HIDEZ
| ossus uz 1,400
+=2%t ¥EE IRsd HELZE S4(=31) 24,000 0 24,000
= 24,000
403 XX EMS =01 24,000 0 24,000
= 24,000
01 XtXIEHH A= 2 = 24,000 0 24,000
O=2A &&8 Irsd HHZE |4 24,000
= 24,000
SEQUE SN 176,136 137,106 39,030
= 34,550
& 141,586
sgolalsaH ns2dg XN (=10)(HE) 7,000 7,000 0
= 3,500
S 3,500
201 &gr=2E | 3,500 3,500 0
= 1,780
= 1,750
01 At2t2/H] 3,500 3,500 0
OHEXN I sENLLH)E 1S 3,500
= 1,750
= 1,780
301 Et2N = 3,500 3,500 0
= 1,750
& 1,750
11 HAIMHIXIZ =S 3,500 3,500 0
OMENEAH(sSEMLeIH)SE s 3,500
= 1,780
S 1,750
sostEHH ns2d Nd(210) 16,750 3,500 12,250
= 10,500
T 5,250
308 XXM SO0IE 15,750 3,500 12,250
= 10,500
= 5,250
01 IXHHBEXS 15,750 3,500 12,250
OMEXNCIHsEWLLIH)2H 1= 15,750
= 10,500
[ 5,250
2| & 018 AEIE JIzus(=1) 30,825 30,500 325
= 20,550
= 10,275
308 AXIHMSOIA 30,825 30,500 325
= 20,550
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[l
3
OF
uJ

-

HwE

325

45,360
45,000

45,000

360
360

AN405

AN405
AN405

1,250,105

1,232,718

815,023
792,403
791,540

dHEC
Ol &42H

30,500

66,856
4,900
4,900

61,956
61,95

10,750
9,400

9,000

400

1,350
1,350

12,344,114

12,004,516

9,287,120

8,962,520

8,906,005

Ofl &8

H

10,275
30,825

16,200
10,800
5,400
14,625
9,750
4,875
112,216

49,900

i

H

i

H

4,900

4,900
45,000
45,000
62,316
62,316
62,316

10,345
9,400
9,000
9,000

400
400
945
945
945

13,594,219

i

126,955

6,250

13,461,014

Il

13,237,234

i

126,955

6,250
13,104,029

Il

10,102,143

9,754,923

9,697,545

7,882,255

7,498,232

2,889,981

94,428
250,920

R

- SR1(3) - HIRAHY

29438

A
=

no

T4
<0

13

=
0

+

01 XX

ol

307 212t01 ™

ol

=
=)

d

=
0J

t

308 X

01 AXSHHBeEXS

RO

80
0H
]
oll

01 AtR2teld]

ulo
|lx

™

=1

o
]

AFRHIX

SH
=

1

80
0K
ar
ol

101 @124

3+
il

oJles

rD

-ASKl

7,869,000 18+ 122

6,970,000& «3& * 123
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A= sII=¥ A s28l=
. dY2I3H(sYII=Y)
chol: olzi2 i (Bl me
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
S 7,667,250 * 198 x 122 1,748,133
SPNE=EE, 7,375,0002 <0~ 123 796,500
-2EHy 4,608,251
6= 4,213,900 *10E* 123 505,668
78 3,571,000« 15« 122 642,780
= 2,531,300 x5 122 161,878
= 2,288,000 2+ 12& 54,912
- ATEA 3,525,200 x55EH 123 2,326,632
EPNE=V\; 3,216,600 x24H =122 926,381
Od0i= 384,023
-g2=¢ 3,459,660 *111H 22 +50% 384,023
o=g 917,502
OE=d 99,600
N} 40,0002« 118« 122 56,640
SIS 20,0002 x179 « 122 42,960
Ogas=giita 102,240
2501 & 130,000 x27 H* 122 42,120
—-20~2540] et 110,000« 10 =122 13,200
-15~20=2 0/ 8¢ 80,0002 x18H « 122 17,280
-10~15= 0/ e+ 60,0003 x 12+ 128 8,640
5102018+ 50,0003 <35 +12& 21,000
ORg2R+g 42,600
=35 50,0002 «71H =122 42,600
ouszeay
4,133,470 448+ 122 4. 1% 89,482
OS+ge=g 112,920
Jled=2sE 41,880
6,72 30,0002 x17H* 122 6,120
- 8,92 20,0002 x8 ~ 122 1,920
SPNE=ET, 60,0002 x0& « 123 6,480
EPNE=V\; 50,0002 x21H*12& 12,600
SIS 30,0002 *41H =122 14,760
- Rsd 80,0002 *x74E+12& 71,040
OE=AZ2f+d 11,400
=X 40,0002 8~ 123 3,840
=N 30,0002 x21H* 122 7,560
OAlRAZ 25
11,6862 x 1312 +25A| 2t 122 459,260
OdHZAHI 140,0002 %1432 123 240,240
Og &=l 3,459,660 *111Hx22 +60% 460,827
Ot &l 196,721
OASHl 195,6703 32 12 +86% 64,619
O=3Hl 115,320+ 111 #1221 +86% 132,102
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A= sg8)|=d 2N sHII==3
M HE2YIH(s0I1=€)
chel: ol 2g| CERE)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
02 JIEtEE= 57,378 56,515 863
(©FI =13 =t 57,378
o== 3,998,000« 1+ 128 47,976
Ozag 40,0002 <12 * 128 480
OAIZtel 284
10, 9523 * 1H+25A| 2t 123 3,286
O&FAuZAlH| 140,000& x1E~ 128 1,680
O 24| 133, 2602 x 1 * 122 +86% 1,376
OFZEXH| 165,000 1Z*12& 1,980
Otigrg=sl 50,0003 x1G+12& 600
204 M~ AH| 347,220 324,600 22,620
02 Az EXH| 347,220 324,600 22,620
O4= 400,000 x12E ~ 122 57,600
©fr= 250,000& x20G 122 60,000
©6= 175,0002 89 x 12& 186,900
or= 165,000& 15 =123 29,700
©8-9= 155,0002x7Hx12& 13,020
ERHEF XA 50,255 48,638 1,617
101 eI244| 45,192 43,737 1,455
03 SR (RIAHY) 22X E> 45,192 43,737 1,455
OJ|z2s(HHARH) 30,274
O== 2,522,820x 18« 12& 30,274
o=g 14,918
OFS It = 2,522,820 *50%*22| 2,523
O=4] 140,000 x1Hx 12& 1,680
OnE| 100,000 x1Z*12& 1,200
OZE SOt 2,522,820 +60%*23] 3,028
OAItI 28
14,2253 = 150%*240 A1 2+ 5,121
OgxtRaF/II=<
14,2252 x8A| 2t 12 1,366
N4 A=REIS 5,063 4,901 162
04 SR (RIIHL)2ZX BESRHES S 5,063 1,182 3,881
oNEsEEsRY3S 1,221
(@ME=35)= 45,192,000 *1.8% 814
O&EE 45,192,000 *0. 9% 407
Clu=t == 45,192,000 *4. 5% 2,034
O=0HLEE= 45,192,000 x4% 1,808
g 2dst 143,425 143,425
101 @I24H| 128,068 128,068
03 SRA(RIHY) 22 XHE = 128,068 128,068
oJl2s 2,363,812 *x3F+ 122 85,104
(OFSFmEt= 2,363, 9813 x3H x40%*23| 5,674
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A= se|Ew SN selEd
. dY2I3H(sYII=Y)
chel: ol 2g| CERE)
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
OAlIRAZ25E
13,3173 *150%+3E 20 Al 2+ x 122 14,383
CIEPE SRS
13,3172 <3S *12&+8A| 2+ 3,836
OgZE =l 2,363, 9812 x3 & +60%*22] 8,511
Os Al 140,000 x38 12 5,040
OuEH| 100,000 x3& ~ 12 3,600
OIH=E+E (B 40,0008 x1&~123 480
ONEFE(RLINR)
60,0002 x2& x 122 1,440
WM ASRE=S 15,357 15,357
4 BRA(RIHSL) 22X 2EEERES S 16,357 15,357
oU=Rs= 6,170
O=2AHIEE= 5,485
oLE2E=FEs 2,468
Ot 2 =RE= 1,234
A=A A 425,627 360,227 65,400
101 @124 382,756 323,944 58,812
03 SRA(RIHY) 222+ 382,756 323,944 58,812
oJlzs 255,310
== 2,363,981 0« 122 255,310
o=¢ 127,446
O I=ss 2,363, 9812 0 x40%*23] 17,021
OAlZRIZ2+E
13,3173 % 150%+ 9 *20A| 2+ 12 43,148
Odxtraxt=g
13,3172 x0 * 122 x8AI 2+ 11,506
OE &=l 2,363, 9813 0 +60%x23] 25,531
o284 140,000+ 122 15,120
OusH] 100,000 x0E «12& 10,800
OJtE+g 4,320
LEON; 40,0008 x3g~12& 1,440
-SHE 60,0002 x4« 122 2,880
WM ASRE=S 42,871 36,283 6,588
M BRA(RIHSL) 22X BEEERES S 42,871 8,747 34,124
OZEEsREg=s 42,871
Ou=Rs= 17,225
O=2AHBEES 15,311
OLE2E=FE=s 6,890
O 22 RE =S 3,445
20l AISHPAY 969,477 948,026 21,451
101 el24b] 871,832 852,540 19,292
03 SRA(RIAHS) =222+ 871,832 852,540 19,292
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i EEE=E))
L HH . GR(B) - NIRAIE - BAR ofl &t i HIDEZ
22 (AEARY) 584,542
Ol=1= 2,319,610 x21H+ 122 584,542
Oo=g 287,290
OFS =S 2,319,610 x21H 22| x50f% 48,712
OAlZRAZ 25
19,7582 x21H*20A| 2+ 123 99,581
Odxtraxt=g 22,125,000 22,125
OE &=l 2,319,6103 x21H 22| *50f% 48,712
Ozl 140,000 x21H =122 35,280
OulEH| 100,000 x21H =122 25,200
OJtE+g 7,680
BN} 40,0002 x108* 12 4,800
-22, M 20,0002+~ 122 2,160
-= M 60,0002 1~ 122 720
WM HASFeSS 97,645 95,486 2,189
4 ZBRA(RIAA)2 2N ZEHERES S 97,645 23,019 74,626
ou=Rg=s 871,810,000 4. 5% 30,232
o=gAI2E=3 871,810,000 *4% 34,873
(ONIE=toah = 871,810,000& *1. 8% 15,693
OLIHESE 871,810,000 0. %% 7,847
SEEE AEATAAE 1,099,349 874,721 224,628
101 e124d| 987,300 786,618 200,682
03 SR (RINHA) 22X 987,300 786,618 200,682
oJlzs 721,968
ozs 2,314,0002 262~ 123 721,968
O=g 265,332
odz2+¢< 2,314,000 x40 26 H x232] 48,132
OAlRAZ 25
124,753 +268 128 38,923
OuxtrEx =g 24,616,843& 24,617
Og &=yl 57,850,000& 22/ *60% 69,420
Oa4itl 140,000 x26EH = 122 43,680
OuSHl 100,000 «26H * 122 31,200
OJExd 9,360
SN} 40,0002 x0~ 123 4,320
LU PE 20,0002 x4« 122 960
-= M 60,0002 38~ 122 2,160
“AMs0l= 100,000 x 1~ 12 1,200
-2 20,0002 x3& 123 720
M A=2E=SS 112,049 88,103 23,946
04 SR (RIAA)2 2N 2EEHIRES S 112,049 21,240 90,809
oLnEsZes FE= 112,049
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A= s8I 2N s d
HH: HESAAY|(SU)IER)
chel: ol 2g| CERE)
424 - ZB-BR(3) - MRAY - BES 0f &b i HIDE2
OHsRE= 1,000,420,000& *4. 5% 45,019
OuZ=Ees |fE=
1,000,430, 0003 *4% 40,018
OunE=2d 1,000,430,000& *1.8% 18,008
OtHEE 1,000,430,000& +0. %% 9,004
KAIIE ANEAS 45,845 43,611 2,234
101 el124H] 41,225 39,218 2,007
03 BRA(RIAHA)22XNE > 41,225 39,218 2,007
OFlI== 28,641
os= 2,386,730 1+ 128 28,641
o= 12,584
Oog2+< 2,386, 7303 *1H x50%22] 2,387
Oz4ld 140,000 x 1+ 122 1,680
Oun=H| 100,000 x 18~ 122 1,200
Og &=l 2,386, 7303 +1H +60%+22] 2,865
OAlt 22+
13,5203 * 1 *150%+ 10A| 2+« 123 2,434
Odxtraszt=g
108, 1603 x1H~12& 1,298
OIE+g 720
- Xt 40,0003 x1&8x12& 480
-SLE 20,0003 18128 240
04 HSRESS 4,620 4,393 227
M 3BRA(RIIAHY) =221 BEEERE3 S 4,620 1,059 3,561
owEERgas 4,620
Ogs!fE=s 1,856
O=eAHAEES 1,649
OLEEEERE=S 743
OUHEEERE= 3r2
sHE Holls tE datxel 43,116 47,722 4,606
101 2124d| 38,773 42,887 N4 114
03 BRA(RIH )22+ 38,773 42,887 N4 114
oJl2s(dyaey 26,942
oss 2,245,160 x18+ 123 26,942
o=¢ 11,831
ogz2+4 2,245, 1602 x50%* 1 H*22] 2,246
O=All 140,000 x1E %123l 1,680
OunsHl 100,0002 x1&* 123 1,200
OFEEFIHI 2,245, 1603 «60%* 1 H 22| 2,69
OAt 2|22+
12,7863 *150%* 12+ 120A1 2¢ 2,302
Odxt=ES7t=E
102,2883 x 18~ 12 1,228
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